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Prototype Ir3Zry

AFLOW prototype label A3B5_hP48_178_ac_a2bc-001
ICSD 104611

Pearson symbol hP48

Space group number 178

Space group symbol P6,22

AFLOW prototype command aflow —-proto=A3B5_hP48_178_ac_a2bc-001
—~params=a, C/a7 XT1,T2,T3,T4,T5,Ys5,25,L6, Y6, 26

e This structure can also be found in the enantiomorphic space group P6522 #179.


https://aflow.org/p/15N7
https://aflow.org/p/A3B5_hP48_178_ac_a2bc-001

e The ICSD entry sets ¢ = 17.701A rather than 17.01A as found in (Cenzual, 1986). We use the published value for c.

Hexagonal primitive vectors
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Basis vectors
Lattice Cartesian Wyckoff Atom
coordinates coordinates position type
B T a %a:cl X — ?aml y (6a) Ir I
B, T as + %ag %axl)‘(—i— ?awly—f— %ci (6a) Ir I
Bs —x1a; — X1 + % as —axr1 X+ 202 (6a) IrI
By —x1a; + %33 %axlx—i— ‘{amly—k zcZ (6a) IrI
Bs —zas + %ag f%azle @amler 52 (6a) Ir I
Bg r1a; +xas + %ag axr1 X + %ci (6a) Ir I
B~ Toay %axg X — @amz v (6a) 7Zr 1
Bs Toas + %33 %angc—k ?amgy—l— %ci (6a) Zr I
By —T9a; — Topas + % as —are X + %cﬁ (6a) Zr 1
Bio —zoa; + %ag —%angc—i— ﬁaxgy—l— %Cﬁ (6a) Zr 1
B —xoay + %ag —%amgx— ?axgjf—l— gci (6a) 7Zr 1
Bis Toaj] + Toag + % as are X + gci (6a) Zr 1
Bis r3a; + 2zr3as + % as %axg X+ ﬁaxg v+ lci (6Db) Zr 11
Bi4 —2x3a; — T3as + % as —%am X+ fagcgy + —cz (6b) Zr 11
Bis r3a; —T3ay + 15 as —V3azsy + 1icz (6b) Zr 11
Bis —x3a; —2r3as + % as —§aa:3 X — ﬁazg v+ fci (6Db) Zr 11
Bir 2x3a; + r3as + 1—12 as §am3 X — @axg v+ —cz (6Db) Zr 11
Bis —z3a; +r3as + 1—52 as V3azxs§ + ﬁcz (6Db) Zr 11
Big zga; + 2z4a + 1 ag Sawsk + ?am y+icz (6b) Zr 111
Boo —2x4a1 — T4y + % as —§ax4 X+ iau v+ —cz (6Db) Zr 111
Bo: r4a; — Tga + % as —V3az, ¥ + ﬁcz (6Db) Zr 111
Boo —x4a1 —2w4a0 + %ag —%am X — ?am v+ %ci (6b) Zr 111
Bas 2x4a1 + T4az + 73 a3 Sawgk — @amy + 15c2 (6b) Zr 111
Boy —z4a; +T4a0 + 1—52 a V3axay + 1—5202 (6Db) Zr 111
Bos Tsay + ysas + 25 as %a(mg, +ys) X — ‘ég (x5 —ys) ¥ + c25 2 (12¢) Ir II
Bag —ysa; + (x5 —ys5) a2 + %a (x5 — 2y5) X+ ‘f arsy +c (z5 + ) (12¢) Ir II
(z5+ 3) as
By — (x5 —y5) a1 — x589 + —za(2x5 —ys5) X — @ayg) v+ (12¢) Ir II
(35+2)a 1c(3254+2) 2
Bos —zsa; —ysaz + (25 + 5) as (12¢) Ir 11

—La(s+ys) R+ La(es —ys) 9+
c(z5+ )i



Bzg = Ys alf(xs — y5) ag+(25 + %) as = %0, (7.%5 + 2y5) X — ﬁaa@ S’ + (120) Ir 11
le(625+5) 2

]

Bso = (z5—ys5) aitasas+(zs+3) a3 = 3a(2w5—ys) X+ ﬁa% ytc(z+i)2 (12¢) Ir II
Bs1 = Ysar +Tsag — (Zs - %) as = %a (x5 +ys5) X ia (xg, —ys) y — (12¢) Ir II
C\Z5 — 3 Z
B3z = (x5 —y5) a1 — ys az — 25 ag = La(zs —2ys) %X — Pazs § —cz 2 (12¢) Ir IT
B3z = —wsa1 — (T5 — ys) az — = —3a(2x5 — ys) X+ @ayg, y - (12¢) Ir 1T
(z5 — %) as %0(325 —-2)z
B34 = —Ysa1 —Tsaz — (25 - %) as = _%a (J)5 + y5) X - @a (I5 - Z/5) 5’ - (120) Ir IT
tc(625 —5) 2
By = —(z5 —ys) a1 + ys a2 — = la(—ws+2ys) X+ ‘[axg, y—c(z—13%)2 (12¢) Ir 1T
(25— 3) as
Bsg = zsa;+(xs —ys) ag—(z — %) ag = %a (225 —y5) X — iay5y — c( — %) Z (12¢) Ir II
B37 = T a1 + Yg a2 + 26 A3 = % (1’6+y6) X — @a( L6 7y6) y+62’62 (12C) Zr IV
Bss = —ys a1 + (T6 — Ys) az + = ja(we—2y6) X+ fax(;y +e(z+35)2 (12¢) Zr IV
26 + %) as
Bsy — — (26 — y6) a1 — T as + - (zmﬁ —yo) X — Laye § + (12¢) Zr IV
(26 +3) as 5¢ (32 +2) 2
Bso = —z¢ai—ysar+ (%6+3) a3 = —ta(zg+ yﬁ) %+ a(z6 —ys) ¥ + (12¢) Zr IV
c (zG + 7) Z
By = ysar—(w6—ye) a2+ (z+3) a3 = ta(—wg + 2y6) X — iawe v+ (12¢) Zr IV
(626 + 5)
Baz = (w6—ys) aitzgas+(zs+g)as = 12a(2ws—ye) X+ fayﬁ y+c(ee+§)2 (12¢) Zr IV
Baz = Yo a1 + Teaz — (ZG - %) as = %a (z6 +ys) X+ %a (6 —ys) ¥ — (12¢c) Zr IV
c (26 - %) Z
By = (z6 — Y6) a1 — Ys Az — 26 a3 = ta(zs — 2y6) X — Yawe§ — cz6% (12¢) Zr IV
Bss = —rga; — (6 — Ys) Az — = —7a (25176 —y6) X+ La%y - (12¢) Zr IV
(26 — %) as 70(326 -2)z
B46 = —Ys A1 — Tgaz — (26 — %) a3z = (xﬁ + yG) X — @a (1’6 - y6) y - (120) Zr IV
sc(626 — 5) 2
_ e — _ - 1 V3 o _ 13
By = (r6 — Ys) a1 + Y6 a2 = ja(—w+2ys) X+ Llazey —c (26— 3) 2 (12¢) Zr IV
(26— 3) a3
Bus = zgar+(zs — ys) ag—(ZG — é) a3 = %a (226 — yg) X — ?ayﬁ y—c (zG — %) Z (12¢) Zr IV
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